**ISSN: 1017-060X (Print)** 



ISSN: 1735-8515 (Online)

## **Bulletin of the**

# Iranian Mathematical Society

Vol. 41 (2015), No. 2, pp. 325-332

Title:

On convolution properties for some classes of meromorphic functions associated with linear operator

Author(s):

A. O. Mostafa and M. K. Aouf

Published by Iranian Mathematical Society http://bims.ims.ir

Bull. Iranian Math. Soc. Vol. 41 (2015), No. 2, pp. 325–332 Online ISSN: 1735-8515

### ON CONVOLUTION PROPERTIES FOR SOME CLASSES OF MEROMORPHIC FUNCTIONS ASSOCIATED WITH LINEAR OPERATOR

A. O. MOSTAFA\* AND M. K. AOUF

(Communicated by Ali Abkar)

ABSTRACT. In this paper, we defined two classes  $S_p^*(n, \lambda, A, B)$  and  $K_p(n, \lambda, A, B)$  of meromorphic *p*-valent functions associated with a new linear operator. We obtained convolution properties for functions in these classes.

 $\label{eq:Keywords: Meromorphic functions, subordination, Hadamard product, linear operator.$ 

MSC(2010): Primary: 30C45.

#### 1. Introduction

In this paper, we obtain conditions on meromorphic functions defined by (1.1) to be in the classes  $S_p^*(n, \lambda, A, B)$  and  $K_p(n, \lambda, A, B)$  which defined by (1.12) and (1.13), using convolution properties. Also we obtain conditions required for inclusion of the classes  $S_p^*(n, \lambda, A, B)$  and  $S_p^*(n + 1, \lambda, A, B)$  and the classes  $K_p(n, \lambda, A, B)$  and  $K_p(n + 1, \lambda, A, B)$ . Let  $\sum_p$  be the class of functions of the form:

(1.1) 
$$f(z) = z^{-p} + \sum_{k=1}^{\infty} a_k z^{k-p} \quad (p \in \mathbb{N} = \{1, 2, ...\}),$$

which are analytic and p-valent in the punctured unit disk  $U^* = U \setminus \{0\}$ , where  $U = \{z : z \in \mathbb{C}, |z| < 1\}$ . If f and g are analytic functions in U, we say that f is subordinate to g, denoted by  $f \prec g$  if there exists a Schwarz function w, which (by definition) is analytic in U with w(0) = 0 and |w(z)| < 1 for all  $z \in U$ , such that  $f(z) = g(w(z)), z \in U$ . Furthermore, if the function g is univalent in U, then we have the following equivalence (see [13]):

O2015 Iranian Mathematical Society

Article electronically published on April 29, 2015.

Received: 12 December 2013, Accepted: 9 February 2014.

 $<sup>^{*}</sup>$ Corresponding author.

<sup>325</sup> 

$$f(z)\prec g(z)\Leftrightarrow f(0)=g(0) \text{ and } f(U)\subset g(U).$$
 For functions  $f$  given by (1.1) and  $g\in \sum_p$  given by

(1.2) 
$$g(z) = z^{-p} + \sum_{k=1}^{\infty} b_k z^{k-p},$$

the Hadamard product (or convolution) of f and g is defined by

$$(f * g)(z) = z^{-p} + \sum_{k=1}^{\infty} a_k b_k z^{k-p} = (g * f)(z).$$

Aouf et al. [4] defined the linear operator  $D_{\lambda,p}^n(f*g)(z): \Sigma_p \longrightarrow \Sigma_p$   $(f, g \in \Sigma_p, \ \lambda \ge 0, \ p \in \mathbb{N}, \ n \in \mathbb{N}_0 = \mathbb{N} \cup \{0\})$  as follows:

$$D^0_{\lambda,p}(f*g)(z) = (f*g)(z),$$

$$D^{1}_{\lambda,p}(f*g)(z) = D_{\lambda,p}(f*g)(z) = (1-\lambda)(f*g)(z) + \lambda z^{-p} (z^{p+1}(f*g)(z))',$$
$$= z^{-p} + \sum_{k=1}^{\infty} (1+\lambda k)a_k b_k z^{k-p} (\lambda \ge 0; \ p \in \mathbb{N}),$$

$$D^{2}_{\lambda,p}(f*g)(z) = D_{\lambda,p}(D_{\lambda,p}(f*g))(z),$$
  
=  $(1-\lambda)D_{\lambda,p}(f*g)(z) + \lambda z^{-p} (z^{p+1}D_{\lambda,p}(f*g)(z))'$   
=  $z^{-p} + \sum_{k=1}^{\infty} (1+\lambda k)^{2} a_{k} b_{k} z^{k-p} (\lambda \ge 0; p \in \mathbb{N})$ 

and ( in general )

$$D^n_{\lambda,p}(f*g)(z) = D_{\lambda,p}(D^{n-1}_{\lambda,p}(f*g)(z))$$

(1.3) 
$$= z^{-p} + \sum_{k=1}^{\infty} (1+\lambda k)^n a_k b_k z^{k-p} \ (\lambda \ge 0; \ p \in \mathbb{N}; \ n \in \mathbb{N}_0).$$

From (1.3) it is easy to verify that:

(1.4) 
$$z(D_{\lambda,p}^{n}(f*g)(z))' = \frac{1}{\lambda}D_{\lambda,p}^{n+1}(f*g)(z) - (p+\frac{1}{\lambda})D_{\lambda,p}^{n}(f*g)(z) \ (\lambda > 0).$$

Specializing the parameters  $n,\lambda$  and the function g, we obtain some operators different from those studied earlier.

(i) For n = 0 and  $b_k = \Gamma_k(\alpha_1)$ ,

(1.5) 
$$\Gamma_{k}(\alpha_{1}) = \frac{(\alpha_{1})_{k}...(\alpha_{q})_{k}}{(\beta_{1})_{k}...(\beta_{s})_{k}(1)_{k}} \quad (\alpha_{1},...,\alpha_{q};\beta_{1},...,\beta_{s} \in \mathbb{C},$$
$$\beta_{j} \notin Z_{0}^{-} = \{0,-1,-2,...\}; j = 1,2,...,s,q \le s+1; s,q \in \mathbb{N}_{0}\},$$

Mostafa and Aouf

where

$$(d)_k = \begin{cases} 1 & (k=0; d \in \mathbb{C}^* = \mathbb{C} \setminus \{0\}) \\ d(d+1)...(d+k-1) & (k \in \mathbb{N}; d \in \mathbb{C}). \end{cases}$$

we have

(1.6) 
$$D^0_{\lambda,p}(f*g)(z) = H_{p,q,s}(\alpha_1)f(z) = z^{-p} + \sum_{k=1}^{\infty} \Gamma_k(\alpha_1)a_k z^{k-p},$$

where the operator  $H_{p,q,s}(\alpha_1)$  was investigated and studied by Liu and Srivastava [11] (see also [1,10] and [12]). The operator  $H_{p,q,s}(\alpha_1)$  has as special cases interesting operaors such as  $L_p(a,c)(a > 0, c \neq 0, -1, -2, ...)$  (see [10]) and  $D^{\nu+p-1}(\nu > -p)$  (see [2] and [10]). (*ii*) For n = 0 and  $b_k = \left(\frac{l+\delta k}{l}\right)^m (l > 0, \delta \ge 0, m \in \mathbb{N}_0)$ , we have

(1.7) 
$$D^{0}_{\lambda,p}(f*g)(z) = I^{m}_{p}(\delta,l)f(z) = z^{-p} + \sum_{k=1}^{\infty} \left(\frac{l+\delta k}{l}\right)^{m} a_{k} z^{k-p},$$

where the operator  $I_p^m(\delta,l)$  was introduced and studied by El-Ashawh and Aouf [8];

(*iii*) For 
$$n = 0$$
 and  $b_k = \left(\frac{l}{l+\delta(k+p)}\right)^m (l > 0, \delta \ge 0, m \in \mathbb{N}_0)$ , we have

(1.8) 
$$D^0_{\lambda,p}(f*g)(z) = J^m_p(\delta,l)f(z) = z^{-p} + \sum_{k=1-p}^{\infty} \left(\frac{l}{l+\delta(k+p)}\right)^m a_k z^k,$$

where the operator  $J_p^m(\delta, l)$  was introduced and studied by El-Ashawh [7]. For  $-1 \leq A < B \leq 1, B \geq 0$  and  $z \in U^*$ , Mogra [14] defined the class

(1.9) 
$$\sum [p, A, B] = \left\{ f \in \sum_{p} : -\frac{zf'(z)}{f(z)} \prec p \frac{1+Az}{1+Bz}, z \in U \right\}$$

and Srivastava et al. [16] defined the class

(1.10) 
$$\sum K_p[A,B] = \left\{ f \in \sum_p : -[1 + \frac{zf''(z)}{f'(z)}] \prec p \frac{1+Az}{1+Bz}, z \in U \right\}.$$

It is clear that

(1.11) 
$$f(z) \in \sum K_p[A, B] \Leftrightarrow -\frac{zf'(z)}{p} \in \sum [p, A, B],$$
$$\sum [1, 2q, -1, 1] = \sum S^*(q) \text{ (any lumpic and Paddwight)}$$

$$\sum [1, 2\alpha - 1, 1] = \sum S^*(\alpha) \text{ (see Juneja and Reddy [9])},$$
$$\sum K_1[2\alpha - 1, 1] = \sum K(\alpha) \text{ (} 0 \le \alpha < 1) \text{ (see Srivastava et al. [16])}$$
$$\sum [p, \frac{2\alpha}{p} - 1, 1] = \sum S_p^*(\alpha) \text{ (see Aouf and Hossen [3]) } (0 \le \alpha < p)$$

327

and

$$\sum K_p[\frac{2\alpha}{p} - 1, 1] = \sum K_p(\alpha) \text{ (see Aouf and Srivastava [5]) } (0 \le \alpha < p).$$

Using the operator  $D^n_{\lambda,p}(f * g)(z), -1 \leq B < A \leq 1, \lambda \geq 0, n \in \mathbb{N}_0$  and  $z \in U^*$  we define the classes  $S^*_p(n, \lambda, A, B)$  and  $K_p(n, \lambda, A, B)$  as follows:

$$(1.12) \quad S_p^*(n,\lambda,A,B) = \left\{ f \in \sum_p : D_{\lambda,p}^n(f*g)(z) \in \sum[p,A,B], z \in U \right\},$$
 and

and

(1.13) 
$$K_p(n,\lambda,A,B) = \left\{ f \in \sum_p : D^n_{\lambda,p}(f*g)(z) \in \sum K_p[A,B], z \in U \right\}.$$

We notice that

(1.14) 
$$f(z) \in K_p(n,\lambda,A,B) \Leftrightarrow -\frac{zf'(z)}{p} \in S_p^*(n,\lambda,A,B).$$

#### 2. Main results

Unless otherwise mentioned, we shall assume in this paper that  $-1 \leq B < A \leq 1, 0 \leq A < 1, \lambda > 0, n \in \mathbb{N}_0, 0 < \theta < 2\pi, p \in \mathbb{N}, z \in U^*$  and g(z) is given by (1.2).

To prove our results we need the following lemmas.

**Lemma 2.1.** [15]. The function f(z) defined by (1.1) is in the class  $\sum [p, A, B]$  if and only if

(2.1) 
$$z^{p}\left[f(z) * \frac{1 + (D-1)z}{z^{p}(1-z)^{2}}\right] \neq 0,$$

where

(2.2) 
$$D = \frac{e^{-i\theta} + B}{p(A - B)}$$

**Lemma 2.2.** [15] The function f(z) defined by (1.1) is in the class  $\sum K_p[A, B]$  if and only if  $z^p \left\{ f(z) * \left[ \frac{p - \{2+p - (p-1)(D-1)\}z - (p+1)(D-1)z^2}{pz^p(1-z)^3} \right] \right\} \neq 0.$ 

**Lemma 2.3.** [6]. Let h be convex (univalent) in U, with  $Re[\beta h(z) + \gamma] > 0$ for all  $z \in U$ . If p is analytic in U, with p(0) = h(0), then

(2.3) 
$$p(z) + \frac{zp'(z)}{\beta p(z) + \gamma} \prec h(z) \Rightarrow p(z) \prec h(z)$$

**Theorem 2.4.** The function f(z) defined by (1.1) is in the class  $S_p^*(n, \lambda, A, B)$  if and only if

(2.4) 
$$1 + \sum_{k=1}^{\infty} \left[ \frac{ke^{-i\theta} + pA + (k-p)B}{p(A-B)} \right] (1+\lambda k)^n a_k b_k z^k \neq 0.$$

Proof. From Lemma 1, we find that  $f(z) \in S^*_p(n,\lambda,A,B)$  if and only if

$$z^{p}\left[D_{\lambda,p}^{n}(f*g)(z)*\frac{1+(D-1)z}{z^{p}(1-z)^{2}}\right] \neq 0.$$

Expanding  $\frac{1+(D-1)z}{z^p(1-z)^2}$ , we have (2.4) which completes the proof of Theorem 1.

**Theorem 2.5.** The function f(z) defined by (1.1) is in the class  $K_p(n, \lambda, A, B)$  if and only if

(2.5) 
$$1 - \sum_{k=1}^{\infty} \left[ \frac{k \left[ k e^{-i\theta} + pA + (k-p)B \right]}{p^2 (A-B)} \right] (1+\lambda k)^n a_k b_k z^k \neq 0.$$

*Proof.* From Lemma 2, we find that  $f(z) \in K_p(n, \lambda, A, B)$  if and only if (2.6)

$$z^{p}\left\{D_{\lambda,p}^{n}(f*g)(z)*\left[\frac{p-\{2+p-(p-1)(D-1)\}z-(p+1)(D-1)z^{2}}{pz^{p}(1-z)^{3}}\right]\right\}\neq0.$$

Now it can be easily shown that

(2.7) 
$$z^{-p}(1-z)^{-3} = z^{-p} + \sum_{k=1}^{\infty} \frac{(k+1)(k+2)}{2} z^{k-p},$$

(2.8) 
$$z^{1-p}(1-z)^{-3} = \sum_{k=1}^{\infty} \frac{k(k+1)}{2} z^{k-p},$$

(2.9) 
$$z^{2-p}(1-z)^{-3} = \sum_{k=1}^{\infty} \frac{k(k-1)}{2} z^{k-p}.$$

Using (2.7) - (2.9) and (2.2) in (2.6), we have the desired result which completes the proof of Theorem 2.

**Theorem 2.6.** If the function f(z) defined by (1.1) belongs to the class  $S_p^*(n, \lambda, A, B)$ , then

(2.10) 
$$\sum_{k=1}^{\infty} \left[ k + pA + (k-p)B \right] (1+\lambda k)^n |a_k| \le p(A-B).$$

*Proof.* Since

$$\left|\frac{ke^{-i\theta} + pA + (k-p)B}{p(A-B)}\right| = \frac{\left|ke^{-i\theta} + pA + (k-p)B\right|}{p(A-B)} \le \frac{k + pA + (k-p)B}{p(A-B)}$$

329

and

$$\left| 1 + \sum_{k=1}^{\infty} \frac{\left[ k e^{-i\theta} + pA + (k-p)B \right]}{p(A-B)} (1+\lambda k)^n \left| a_k z^k \right| \right|$$
  
>  $1 - \sum_{k=1}^{\infty} \left| \frac{\left[ k e^{-i\theta} + pA + (k-p)B \right]}{p(A-B)} \right| (1+\lambda k)^n \left| a_k \right|.$ 

The result follows from Theorem 1.

Using the same technique, we can also prove the following theorem.

**Theorem 2.7.** If the function f(z) defined by (1.1) belongs to the class  $K_p(n, \lambda, A, B)$ , then

(2.11) 
$$\sum_{k=1}^{\infty} k \left[ k + pA + (k-p)B \right] (1+\lambda k)^n \left| a_k \right| \le p^2 (A-B).$$

**Theorem 2.8.** Let the function f(z) be defined by (1.1). If

(2.12) 
$$\frac{1+AB+(A+B)\cos\theta}{1+B^2+2B\cos\theta} \le \frac{\lambda p+1}{\lambda^2}$$

and  $f(z) \in S_p^*(n+1,\lambda,A,B)$  with  $D_{\lambda,p}^n(f*g)(z) \neq 0$ , then  $f(z) \in S_p^*(n,\lambda,A,B)$ .

*Proof.* Let  $f(z) \in S_p^*(n+1, \lambda, A, B)$  and define the function

(2.13) 
$$P(z) = -\frac{z\left(D^n_{\lambda,p}(f*g)(z)\right)'}{D^n_{\lambda,p}(f*g)(z)},$$

we see that P is analytic in U with P(0) = 1. Using the identity (1.4) in (2.13) we have

(2.14) 
$$\frac{D_{\lambda,p}^{n+1}(f*g)(z)}{D_{\lambda,p}^{n}(f*g)(z)} = -\lambda P(z) + (p+\frac{1}{\lambda}).$$

,

Differentiating (2.14) logarithmically and using (2.13), we have

$$(2.15) \quad -\frac{z\left(D_{\lambda,p}^{n+1}(f*g)(z)\right)'}{D_{\lambda,p}^{n+1}(f*g)(z)} = p(z) + \frac{zP'(z)}{-P(z) + \frac{1}{\lambda}(p+\frac{1}{\lambda})} \prec \frac{1+Az}{1+Bz} = h(z).$$

Simple computations show that the inequalty  $\Re\{-h(z)+\frac{1}{\lambda}(p+\frac{1}{\lambda})\}>0$  can be written in the form

$$\Re \frac{1+Az}{1+Bz} - \frac{1}{\lambda}(p+\frac{1}{\lambda}) < 0,$$

which is equivalent to (2.12). Since the function h(z) is a convex function, by applying Lemma 3, we see that the subordination (2.15) implies  $P(z) \prec h(z)$ . This completes the proof of Theorem 2.8.

Putting n = 0 and  $b_k = \Gamma_k(\alpha_1)$ , where  $\Gamma_k(\alpha_1)$  is defined by (1.5), in Theorem 2.8, we have the following corollary which improves the result obtained by Sarkar et al. [15, Theorem 2.7].

**Corollary 2.9.** Let the function f(z) be defined by (1.1). If  $\alpha_1 > 0$ ,

(2.16) 
$$\frac{1+AB+(A+B)\cos\theta}{1+B^2+2\cos\theta} \le \frac{p+\alpha}{p^2}$$

and  $f(z) \in S_{p,q,s}^*(\alpha_1 + 1, A, B)$  with  $H_{p,q,s}f(z) \neq 0$ , then  $f(z) \in S_p^*(\alpha_1, A, B)$ . Using (1.14) and the fact that

$$D^n_{\lambda,p}(-zf')(z) = -z \left( D^n_{\lambda,p} f(z) \right)',$$

Theorem 5 yields the following theorem.

**Theorem 2.10.** Let the function f(z) be defined by (1.1). If (2.12) holds and  $f(z) \in K_p(n+1,\lambda,A,B)$  with  $D^n_{\lambda,p}(f*g)(z) \neq 0$ , then  $f(z) \in K_p(n,\lambda,A,B)$ .

#### References

- M. K. Aouf, Certain subclasses of meromorphically multivalent functions associated with generalized hypergeometric function, *Comput. Math. Appl.* 55 (2008), no. 3, 494–509.
- [2] M. K. Aouf, New criteria for multivalent meromorphic starlike functions of order alpha, Proc. Japan Acad. Ser. A Math. Sci. 69 (1993), no. 3, 66–70.
- [3] M. K. Aouf and H. M. Hossen, New criteria for meromorphic p-valent starlike functions, *Tsukuba J. Math.* 17 (1993), no. 2, 481–486.
- [4] M. K. Aouf, A. Shamandy, A. O. Mostafa and S. M. Madian, Properties of some families of meromorphic *p*-valent functions involving certain differential operator, *Acta Univ. Apulensis Math. Inform.* **20** (2009) 7–16.
- [5] M. K. Aouf and H. M. Srivastava, A new criteria for meromorphicallyp-valent convex functions of order alpha, *Math. Sci. Res. Hot-line* 1 (1997), no. 8, 7–12.
- [6] P. J. Eenigenburg, S. S. Miller, P. T. Mocanu and M. O. Reade, Second order differential inequalities in the complex plane, J. Math. Anal. Appl. 65 (1978), no. 2, 289–305.
- [7] R. M. El-Ashwah, A note on certain meromorphic p-valent functions, Appl. Math. Letters 22 (2009), no. 11, 1756–1759.
- [8] R. M. EL-Ashwah and M. K. Aouf, Some properties of certain classes of meromorphically p-valent functions involving extended multiplier transformations, *Comput. Math. Appl.* 59 (2010), no. 6, 2111–2120.
- [9] O. P. Juneja and T. R. Reddy, Meromorphic starlike univalent functions with positive coefficients, Ann. Univ. Mariae Curie-Skodowska Sect. A 39 (1985), no. 9, 65–75.
- [10] J. L. Liu and H. M. Srivastava, A linear operator and associated families of meromorphically multivalent functions, J. Math. Anal. Appl. 259 (2001), no. 2, 566–581.
- [11] J. L. Liu and H. M. Srivastava, Classes of meromorphically multivalent functions associated with the generalized hypergeometric function, *Math. Comput. Modelling* **39** (2004), no. 1, 21–34.
- [12] J. L. Liu and H. M. Srivastava, Subclasses of meromorphically multivalent functions associated with a certain linear operator, *Math. Comput. Modelling* **39** (2004), no. 1, 35–44.
- [13] S. S. Miller and P. T. Mocanu, Differential Subordinations, Theory and Applications, Series on Monographs and Textbooks in Pure and Appl. Math., 225, Marcel Dekker Inc., New York, 2000.

331

- [14] M. L. Mogra, Meromorphic multivalent functions with positive coefficients, I, Math. Japon. 35 (1990), no. 1, 1–11.
- [15] N. Sarkar, P. Goswami and M. K. Aouf, Convolution properties for certain classes of meromorphic p-valent functions defined by subordination, *Thai J. Math.* **10** (2012), no. 3, 577–585.
- [16] H. M. Srivastava, H. M. Hossen and M. K. Aouf, A unified presentation of some classes of meromorphically multivalent functions, *Comput. Math. Appl.* 38 (1999), no. 11-12, 63–70.

(A. O. Mostafa) Department of Mathematics, Faculty of Science, Mansoura University, P.O. Box 35516, Mansoura, Egypt

E-mail address: adelaeg254@yahoo.com

(M. K. Aouf) DEPARTMENT OF MATHEMATICS, FACULTY OF SCIENCE, MANSOURA UNIVERSITY, P.O. BOX 35516, MANSOURA, EGYPT

 $E\text{-}mail\ address:\ \texttt{mkaouf127@yahoo.com}$